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Valve Table

F.M. CIRCUITS

Two methods of if. alignment are
given, a visual method and a meter
method.

Visual Method

Equipment Required—A sweep fre-
quency generator and an oscilloscope.
1.—Switch receiver to f.m. and tune to

the Lf. end of the scale. Turn the

volume control to minimum, Discon-

nect C50 at the chassis end.
2.—Connect the oscilloscope across R29

and connect the sweep generator to V3

contro! grid (pin 2). Feed in a 10.7

Mc/s signal and adjust L18 for peak

response,
3.—Reconnect C50 and transfer the oscil-

loscope lead to the junction R20, R21.

Adjust L20 for a symmetrical “S8”

curve and maximum a.m. rejection. Re-

adijust L18 for the best “S” curve.
4.—Disconnect the chassis end of C50
and re-connect the oscilloscope across

R29. Transfer the sweep generator to

V2 control grid (pin 2). Feed in a

10.7Mc/s signal and adjust L11 and

L.10 ensuring that the symmetry of the

curve is maintained.
5.—Transfer the signal generator to the

junction R2, C3 and adjust L7 and L6
for the best response shape, Re-
connect C50.

Equipment Required.—An f.m. signal
generator; a 0-50xA meter; two matched
220k resistors; a 4.7k} resistor and
1,0000F capacitor wired in series, and a
further 1,0000F capacitor.
1.—Switch receiver to f.m. and tune to

1.f. end of scale. Turn volume and

tone confrols to maximum. Wire the

two 220k(2 resistors in series across R29
to form an artificial centre-tap, and
connect the 0-501A meter between their

junction and chassis. Connect the f.m.

signal generator to V3 control grid (pin

2). Connect the 4.7kQ resistor and

1,000pF capacitor damping unit across

L20. Feed in a 10.7Mc/s +75kc/s

deviated signal and adjust L18 for maxi-

mum reading on the meter.

2.—Transfer the damping unit from L20
to L18. Connect the meter between
the junction of the 220kQ resistors and
the junction R20, R21 and adjust L20
for zero meter reading. Observe that
the reading swings from one polarity
to the other through zero. Remove
the damping unit.

3.—Re-connect the meter between the
junction of the 220kQ resistors and
chassis, and transfer the signal generator
to V2 control grid (pin 2). Adjust L11
and L10 for maximum meter reading.

4 —Connect the signal generator via a
1,0000F capacitor to the junction R2,

C3 and adjust L7 and L6 for maximum

meter reading.
5.—Repeat operations 3 and 4 then re-

move the meter and 220k resistors.

: | _
Valve { Anode | Screen | Cathode ! PYE 1 2 0 2
EV W vy
via uccss {i 1% = =
‘v uccss {3 16¥ = = |
vz UCHSL {} | g - 22 _——
V2b UCHS1 { P 134 22
V3 o * 145 125 25 i
b P 123 1 z8 The drive cord as Drive F.M.unit
| V4d UABC8O0 . | — - : - ri
\ i ! & o > sembly viewed from drum ™~ carriage
''V5 UL8s4 + 192 156 105 the fromt of the
| V6 UYs5 * | 2359 —_ 235-0 chassts  with  the
T ‘ 240° — | 2430 tuning  gang  fully
- meshed
; Ilgeceiver switched to f.m,
ecetver switched to a.m. 2 nsr
Y Measured at the junction R2, C3 fe) (6\ \ turns O‘U nd
¢ Measured at the junction R2, C2 controi spindle
3 A.c. reading. -
1
Resistors R36 33002 E3 C29 435pF G3 C65 470pF E4 |
1 1-5MQ A2 R37a 1002 D2 C30 100pF A2 C66 0-01uF F3 |
R2 1-5kQ A2 R37b 30002 D2 C31 15pF A2 C67 0-01xF G4 |
R3 150€) Jj6 R37¢ 4140 D2 C32 200pF G4 C68 0-01uF —_ !
R4 1:5MQ Bl R38 820k E3 C33 495pF G4
R5 3-3k() B1 R39 1k E3 C34 30pF B1 Coils
R6 1MQ J6 C35 5,000pF G4 L1 —_ A2
R7 4-7kQ A2 Capacitors C3 350pF B2 L2 — A2
R8 33k H4 ! Cl 0-01uF H4 C37 15pF B2 L3 —_— J6
R9 5-6k€2 H4 C2 0-01uF A2 C38 0-03uF G4 L4 —_ 16
R10 470k H4 C3 1,000pF A2 C39 500pF G3 L5 —_ Jjo6
R11 1509 H4 C4 1,000pF Jo C40 220pF G3 L6 _— J6
R12 47KkS) H4 C5 0-01uF Bl C41 350pF B2 | L7 —_ 16
R13 12k G4 C6 30pF A2 C42 22pF B2 L8 —_ B2
R14 —_ i C7 47pF Jo C43 220pF G4 1.9 — C2
R15 2:2MQ H4 C8 6pF Jé C44 220pF G4 L10 —_ Cl
R16 2-2kQ) F4 C9 470pF B1 C45 470pF H3 L11 —_ C1
R17 180€2 G4 C10 8-2pF (] C46 Q-02uF H3 Li12 —_ C1
R18 — T Cl11 12pF To C47 0-01uF F3 ‘ L13 — C1
R19 120kQ2 F3 C12 51pF J6 C48 220pF G4 | L14 —_ G3
R20 82Q G4 Cl13 10pF J6 C49 220pF F4 | L15 —_ G3
R21 47k() G3 Cl4 12pF Jé C50 2uF G4 [ L1é6 —_ C1
R22 47k€) F4 C15 4,7000F Cl Cs51 0-01uF F4 L17 — C1
R23 — + Cl6 82p J6 C52 2uF F4 L18 —_ C1
R24 680k(2 G4 C17 1,000pF H3 C53 5,000pF E3 L19 —_ C1
R25 1-8kQ2 F4 C18 5,000pF H4 C54 25uF F4 L20 —_ C1
R26 220kQ) F4 C19 30pF B1 C55 32uF F4 L21 — —_—
R27 47k F4 C20 —_ A2 C56 40uF F4 )
R28 10MQ F4 C21 150pF H3 C57 40uF F4 Miscellaneous
R29 47k F4 C22 100pF A2 C58 001uF G4 FB1 —_ J6
R30 10002 E3 C23 10pF A2 C59 0-01uF G4 T1 —_ E4
R31 10kQ Fa C24 0-03uF H4 C60 0-01uF Jo S1-S13 — H3
R32 820k} E3 C25 0-03uF G4 Cé1 1,000pF Jj6 S14, S15 — E3
R33 820Q E4 C26 — Al C62 0-01uF Al
R34 150Q E4 C27 82pF H4 C63 0:03uF F4
R35 — + C28 30pF B1 Co64 0-01uF E4 1 No component.
CIRCUIT ALIGNMENT Meter Method R.F. Alignment

Equipment Required.—An f.m. signal

generator and an audio output wattmeter.
During alignment the input signal

should be adjusted to give an output of

approximately 50mW.

1.—Connect the output meter in place
of the loudspeaker. Switch receiver
to f.m. and check that with the tuning
gang fully closed, the f.m. tuner car-
riage is %in from the fully open posi-
tion. Adjust if necessary by rotating
the drive collar on the tuning gang
shaft. Turn the volume and tone con-
trols to maximum,

2.—Connect the signal generator to the
f.m. aerial sockets and feed in a 92Mc/s
+15ke/s deviated signal. Tune the

receiver to 92Mc/s and adjust LS, L3
and C6 for maximum output.

A.M. CIRCUITS

Equipment Required.—An am. signal
generator modulated 30 per cent; an audio
output meter and a 0.1xF capacitor.
1.—Switch receiver to m.w. and check

that with the tuning gang fully closed,

the cursor is aligned with the 1f. ends
of the tuning scale tracks. Turn volume
and tone controls to maximum. Con-
nect the audio output meter in place
of the loudspeaker and connect the
signal generator via the 0.1yF capacitor

to V2 control grid (pin 2).
2.—Feed in a 470kc/s signal 30 per cent

modulated and adjust L17, L16, L13

and L12 in that order for maximum
output.
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3.—Transfer the signal generator to the
a.m. aerial socket. Tune receiver to
500m. Feed in a 600kc/s signal and
adjust L14 for maximum output.

4.—Tune receiver to 200m. Feed in a
1,500kc/s signal and adjust C28 for
maximum output.

5.—Re-tune receiver to 500m. Feed in
a 600kc/s signal and adjust L8 (on
ferrite rod) for maximum output.

6.—Tune receiver to 214m. Feed in a
1,400kc/s signal and adjust C19 for
maximum output.

7.—Repeat operations 3, 4, 5 and 6 as
necessary for correct calibration and
tracking.

8.—Switch receiver to lw, and tune to
1,400m. Feed in a 214kc/s signal and
adjust C34 and L9 (on ferrite rod) for
maximum output. Check calibration
and tracking.

GENERAL NOTES

Dismantling.—To remove the chassis
from the cabinet, disconnect the receiver
from the mains supply and remove the
back cover.

Unplug the earth and pick-up leads,
and disconnect the gram motor supply
leads noting the colour code.

Unsolder the loudspeaker leads.

Slacken the inner control knob grub
screws and pull off all four knobs.

Remove the four chassis securing screws
from the underside of the cabinet and
withdraw the chassis,

Drive Cord Replacement.—To replace
the main drive cord, approximately 36
inches of nylon braided glass yarn is
required. Make up the new cord and
wind it as shown in the sketch in col. 3.
The f.m. drive cord is approximately 83
inches in length and is secured to the
drive collar on the tuning gang shaft.

Switch Table

} ? i
| Switch | F.M. |

| S1 ;
! S2 i
S3 |
S4 |
S5
S6

S7 ;
sg |
S9 i
S10
S1t '
S12 ’

I

llolollloolll
lotalllollolo :
lalol lool | ool

ol lTltobtbITTI

S13

|

Switches.—S1-S13 are the waveband/
gram switches which are combined in a
rotary unit shown in location reference
H3. The function of each switch is in-
dicated in the table above where, under
the respective waveband or gram head-
ing, “C” means closed and a dash open.



